
Puissances de Dix (F)

43 ÷ 1 = 14 ÷ 1 =
43 ÷ 10 = 14 ÷ 10 =
43 ÷ 100 = 14 ÷ 100 =
43 ÷ = 14 ÷ =
43 ÷ = 14 ÷ =

42 ÷ 1 = 23 ÷ 1 =
42 ÷ 10 = 23 ÷ 10 =
42 ÷ 100 = 23 ÷ 100 =
42 ÷ = 23 ÷ =
42 ÷ = 23 ÷ =

30 ÷ 1 = 33 ÷ 1 =
30 ÷ 10 = 33 ÷ 10 =
30 ÷ 100 = 33 ÷ 100 =
30 ÷ = 33 ÷ =
30 ÷ = 33 ÷ =

51 ÷ 1 = 23 ÷ 1 =
51 ÷ 10 = 23 ÷ 10 =
51 ÷ 100 = 23 ÷ 100 =
51 ÷ = 23 ÷ =
51 ÷ = 23 ÷ =

69 ÷ 1 = ÷ 1 =
69 ÷ 10 = ÷ 10 =
69 ÷ 100 = ÷ 100 =
69 ÷ = ÷ =
69 ÷ = ÷ =
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Puissances de Dix (F) Solutions

43 ÷ 1 = 43 14 ÷ 1 = 14
43 ÷ 10 = 4,3 14 ÷ 10 = 1,4
43 ÷ 100 = 0,43 14 ÷ 100 = 0,14
43 ÷ = 0,043 14 ÷ = 0,014
43 ÷ = 0,0043 14 ÷ = 0,0014

42 ÷ 1 = 42 23 ÷ 1 = 23
42 ÷ 10 = 4,2 23 ÷ 10 = 2,3
42 ÷ 100 = 0,42 23 ÷ 100 = 0,23
42 ÷ = 0,042 23 ÷ = 0,023
42 ÷ = 0,0042 23 ÷ = 0,0023

30 ÷ 1 = 30 33 ÷ 1 = 33
30 ÷ 10 = 3 33 ÷ 10 = 3,3
30 ÷ 100 = 0,3 33 ÷ 100 = 0,33
30 ÷ = 0,03 33 ÷ = 0,033
30 ÷ = 0,003 33 ÷ = 0,0033

51 ÷ 1 = 51 23 ÷ 1 = 23
51 ÷ 10 = 5,1 23 ÷ 10 = 2,3
51 ÷ 100 = 0,51 23 ÷ 100 = 0,23
51 ÷ = 0,051 23 ÷ = 0,023
51 ÷ = 0,0051 23 ÷ = 0,0023

69 ÷ 1 = 69 ÷ 1 =
69 ÷ 10 = 6,9 ÷ 10 = 150,8
69 ÷ 100 = 0,69 ÷ 100 = 15,08
69 ÷ = 0,069 ÷ = 1,508
69 ÷ = 0,0069 ÷ = 0,1508
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